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$iharika Jha 21 hours ago

Homework answer -

H-F, D-C, E-G, A-B..

Opposite arrangement

Thank you for the awesome sessions =

Elﬁ gﬂ Reply

alap 14 hours ago

Amazing session Thank You sir .

HW ANSWER:
A-B ..

Read more
1 OO Reply

Vighfid Glpta 19 hours ago

i H-F, D-C, E-G,A-B Opposite arrangements
Very nice session sir thank you sir thank ¥ _

Elﬁ gﬂ Reply

bhishek Singh 12 hours ago

G,B,HDEAFC
Very nice session Sir

- - -
- - -

Muskan Rai 21 hours ago

ANSWER= EAFCGBHD
THANK U SIR

[6 9] Reply

u Maurya 15 hours ago

Hw ans AEDHBGCF.....AB,CD,FH,GE opposite... thanku sir for amazing session

[6 9] Reply

ftika Gupta 21 hours ago

Homework
AFCGBHDE

[6 @] Reply

ffa Mandaokar 15 hours ago
Thank you sir for the session ans is EG AB FH CG

[ﬁ-; 9] Reply

a Sharma 8 hours ago

Mwer{, AFCGBHD

[ﬁ; 9] Reply
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nshi Singh 27 hours ago
hw ans. A-B,E-G,D-C H-F

(51 CJ Reply

hi Sinha 8 hours ago
HF DC EG AC OPPOSITE ARRANGEMENTS == THANK YOU SIR FOR THIS WONDERFUL SESSION #5

D’i—,l gﬂ Reply
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Eight persons A, B, C, D, E, F, G and H are sitting on a circular table facing the centre
of the table but not necessarily in the same order. H and F are facing each other. H and
A are not immediate neighbours of each other. C 1s not immediate neighbour of H.
Two persons sit between A and G. B sits immediate left of G. Two persons sit between
B and E. One person sits between A and D. D and G are not immediate neighbours of

each other.

318 Ak HA A, B, C, D, E, F, G 3 H Teh IaThR 5 o =R 3T 35 hl AR 3@
BIhL o & Qfohe ATerzdeh el foh @A 567 H 2| H 3N F Tk THL Al 3T 3@ 2| H 3 A
Ueh 8L o Tehedw g T 81 C, H o1 Teh fHehead TSl el €1 A 3T G o sfi= <l =it
I3 21 B, G % Ik aRff ST AT 2| B 3 E o ofi=r a1 stk 93 81 A 3T D & oI Uah sH <k
SI31 8l D $R G Toh 38X o Tepeam qgiel e &
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Eight persons A, B, C, D, E, F, G and H are sitting on a circular table facing the centre

of the table but not necessarily in the same order. H and F are facing each other. H and

A are not immediate neighbours of each other. C 1s not immediate neighbour of H. Two
persons sit between A and G. B sits immediate left of G. Two persons sit between B

and E. One person sits between A and D. D and G are not immediate neighbours of

each other. = A
y E C —¢ K

A - A
F \]/ H F BIl &
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Type of Puzzle :- 3@

Box based puzzles W

Floor/lift based puzzles

Day/ Month/ Year based puzzles

Age based puzzles

Puzzles based on categorization.

Puzzles based on comparison. (Based on height, color, marks, ages and
Seating arrangement etc)

Puzzles based on Blood Relation.

Designation based (salary, experience etc)

Matrix based Puzzle



Type of Sitting Arragement

® Circular Arrangement
’ — T |-
*Yinear Arrangement ’ —
/_E/\ S —T 1 RV

’/'Driﬁlgular Arrangement

e
‘/Sqﬁe Base
<__/
/\:@gle Base
Uncertain person Base [ imnen

* Double circle or Double Squar\eB}@
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Here some Conjunction is also used instead of name of candidate. In that case:

If AND/BUT is used then subject of the previous sentence (name of

first candidate)\will be used.

e <3 / AfRr AT STINT FoRaT STTAT & dY AR STRT (TAH IFF
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If WHO/ WHOM / WHOSE / WHICH is used then object of the previous

sentence (name of second candidate) will be used.

s A/ Freeht / TweRt o1 U=t fohat STt & a1 fuset are (ga 3w

ATH) ok T T STt foRar STe

e &t



at 9:00 AV
Important points to Start the puzzle

°*Gap — _\}\ =S A4
* Negative 1/ o
®* Double / Triple

* Immediate —

®* Only —
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Important points
i
~ Y
PZ N /\/\
/ A o C
) 3 ~—  “
K/ _ R [
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7 People A, B, C, D, E, F and G are sitting around a circular table. In which 3
people are facing outside and 4 of them facing inside the circle. Only three
people sits between A and G who is facing outside. D sits immediate left of G
and B. The neighbour of E facing same direction. F is not an immediate
neighbour of E but both are facing same direction. G sits third to the left of E.

D is not facing outside.

7T A, B, C, D, E, F 3T G Ueh MATRR It o TRT 3T a3 Tl w3 o
TTEY hT ATHAT F T8 3 TR ITH I 4 B oF 3T HT ATHAT @ Bl A ARG F =
HA T N S3d § AT JA18L kT ATHAT HI BT 21 D, G R B o dcehTed 910 43T
21 E  UStE T 29T ot AmHAT S @1 21 F, E hT dcehTel USET 981 8 ilehd
31 Tk & fA9T /T AWAT R R Bl G, E % 970 8 S 16 €A W g D SrE <Rl
ATHAT & o T 2
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7 People A, B, C, D, E, F and G are
sitting around a circular table. In

which 3 people are facing outside

and 4 of them facing inside the

i

circle. Only three people sits between

A and G who is facing outside. D sits

immediate left of G and B. The
neighbour of E facing same
direction. F is not an immediate
neighbour of E but both are facing

same direction. G sits third to the

left of E. D is not facing outside.

at 9:00 AM

D F ®



In a Certain code TAX is written as 29, than find the

code for MOVE ? ’

s AT R A 7AX FTRIT 29 @I I1ATR, MOVE aY

T IS FIT T ? y + Srallor
Nl

mz2s i

@29 7 |1 0 (4

(4) - Y

(5) None of these
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Nine persons A, Q, B, S, C, U, V, D and X. They live on a separate floor each of a nine
floor building but not necessarily in the same order. The ground floor is numbered 1, the
first floor is numbered 2 and so on until the topmost floor is numbered nine. D lives on
an odd-numbered floor below floor number 5. There are two persons living between D
and X. S lives on one of the odd numbered floors but not on floor number 7. There are
two people sitting between V and B. U lives on floor number 6. Q lives on the top-most
floor. V lives on an even numbered floor. B lives below V. C lives just above D’s floor .
TAREA, Q, B, S, C, U, V,D and X. | ¥ Uk 3T AT U Ueh T HINTeA hl SARA H & &
IR ST T2t ok Ueh 21 5h W 2| et sh ST 1 2, Uge! Hivter Y & 2 § iR g
TE Ta deh AT JHUU HISTET Shl TEAT A1 T&1 gl D, 76T S&AT 5 W el Teh (90 J&A1 a1
T WR TEaT 81 D SR X o oo 2t aih T B S foww s et @ivret § 9 U W @ g,
SfeR UiTer HEaT 7 WX g V 3R B % sfter 1 f ufeh @d &1 U Hitet Fa% 6 W AT 81 Q
Tl SO WRAeT R TEdT B V Ueh A0 H&AT JTet Hivtel WX @At 81 B, VA frer war 21 C, D
% T | Sk HUR L& 2|
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Nine persons A, Q, B, S, C, U, V, D and X. They live on a separate
floor each of a nine floor building but not necessarily in the same

order. The ground floor is numbered 1, the first floor is numbered

2 and so on until the topmost floor is numbered nine. D lives

on an odd-numbered floor below floor

number 5. There are two persons living

between D and X. S lives on one of the
odd numbered floors but not on floor
number 7. There are two people sitting
between V and B. U lives on floor number
6. Q lives on the top-most floor. V lives on

an even numbered floor. B lives below V.

C lives just above D’s floor

at 9:00 AM
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In a Certain code SPOT is written as 30, than find the

code for FARM ? 0

U [ARTd FIZ A SPOT HFTHI1S 30 @I IRATE, @Y FARM
T IS FIT 1T ? (o= 7 V)

SPOT

g; 2(1) a4 16 1S 2° £ A R M
g

(4) 63 TAY

(5) None of these = o

/é/{



IBPS / BANK / LIC / SBI at 9:00 AM

Ten persons are sitting in two parallel rows containing five persons each in such a way that there is an equal
distance between adjacent persons. In the Row-1, Q, E, W, R and T are sitting and all of them are facing
towards north. In the Row-2, Y, U, I, O and P are sitting and all of them are facing towards south direction
but not necessarily in the same order. In the given seating arrangement each member sitting in a row faces
another member of the other row. Only one person sits between W and T. One of immediate neighbour of T
faces Y. Two persons sit between Y and P. P does not face W. One of immediate neighbour of P faces R.
One of immediate neighbour of U faces E and none of them sits any of the extreme end of the row. W does

not face U or Y. I is not a neighbour of P . I sits one of the position right of O.

< STk &1 TG LT H Tedish H U=l s4feh §6 T o83 & foh 1 ST oS safehat o qed g0 gl 2. 3@ -1
T, Q, E, W, R 3R T &3 & 3R 37 9t 1 7@ ST Al AR W1 -2 1, Y, U, [, O 3R P 53 § AR A vt 1 q@
STeA0T St 3T & U] STTervareh el 56lT shH 1 8. &t TRAT Sia ohl sHaeT | Ueh 1@ H o3 Tedieh s4fh ol 9@ @l @
T S ek o 7@ %! AR 2. hacl Ueh ATth W 3R T o T SaT 2. T o [Hehed™ TSI H § T &I 99 Y i 3T
2. 2K Y R P FHA SIS 2. P HI @ W ! AL 2. P % Hehead TSITeal H § Uk 1 H@ R I I U
fehea TSIfe™l # § Ueh 1 9 E ol 3R & 3T S0 § ohis ol T o fordll ot 3ifad o1 o =21 et 2. W 1 9@ U
Y AR R, 1, P T IS 781 =, I, O 3 SR forelt T wU siar 2.
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Ten persons are sitting in two parallel rows containing five persons each in such a way that there is an equal
distance between adjacent persons. In the Row-1, Q, E, W, R and T are sitting and all of them are facing
towards north. In the Row-2, Y, U, I, O and P are sitting and all of them are facing towards south direction
but not necessarily in the same order. In the given seating arrangement each member sitting in a row faces
another member of the other row. Only one person sits between W and T. One of immediate neighbour of T

faces Y. Two persons sit between Y and P. P does not face W. One of immediate neighbour of P faces R.

One of immediate neighbour of U faces E and [none of therrgsits any of the extreme end of the row. W does

S— ~—

not face U or Y. I is not a neighbour of P . I sits one of the position right of O.

UYj:DIQ / OIYU




In a Certain code MAN is written as 433, than find the

code for FAN ?
s ARTT T A VAN FTRIT 433 o @TIATE, FAN Y

T IS FATEIM 2 N/D 496 [1r8s S hivorngy
— U

(1) 333 ,.I:'ﬂ

(2) 233 M 9 A\ N

(3) 345 c 2 2! 3

(4) 512 Ve .

(5) None of these



Eight persons P, Q, R, S, T, U, V and W are sitting around a square table with

four of them sitting at the corner and rest sitting at the middle of the sides of
table. All of them are facing towards the centre of the table. One person sits
between P and V. Two persons sit between V and S. P sits at the corner of the
table. U sits to the immediate left of T. R sits second to the right of T. Q sits
to the immediate right of R. W does not sit to the immediate left of P.

ABARB P, Q, R, S, T, U, V 3 W Teh IR HSl oh TR X &S ©, IS0 9
TR I TS § HI AT U T YT o HE H oS €| 3 Gl T 7@ U o ohs ohl
3R 3| P 3RV o i< Ueh HAfxh 93T 21 V IR S o o 2 ATk oS 2| P 8BSl o ki
WSS 8| U, T % 3l a1 931 81 R, T o <14 & G 8 W31 8 Q, R o 3ok

2R 3T 31 W, P ¥ 21 a7t dar 2 oo =D
L/<ﬁ@”j_“’i7<




Eight persons P, Q, R, S, T, U, V and W are sitting around a square table with

four of them sitting at the corner and rest sitting at the middle of the sides of
table. All of them are facing towards the centre of the table.One person sits

between P and V. Two persons sitbetween V and S. P sits at the corner of the
table. U sits to the immediate Ieit of T. K sifs second to the right of T. Q sits
to the immediate right of R. W does not sit to the immediate left of P.

| -

A ) }&. T Te o
- R o, T % ¥
Jan A

v x| 1 s R

I
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at 9:00 AM

In a Certain code DECISION is written as 567527171

,than find the code for DECODING ?

& AT T A DECISION FT 18 567527171 far@r
AT & Y DECODING T HIS FIT {1917 ?

’)4;1Ff§302760
(2) 27279060
(3) 35602618
(4) 80902735

(5) None-ofthese

y ¢ > a (v a9 s '
NDeEC T S+ N DECoDI/\/Q

GS§ vy TM7

=
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There are twelve persons sitting in two parallel rows. Six persons A, B, C, D, E and F
are facing north and other six P, Q, R, S, T, and U are facing south. Each person from
one row faces exactly one person from the other row but not necessarily in the same
order. A and R sits diagonally opposite to each other. There are two persons sitting
between R and Q. One of the immediate neighbors of Q faces C, who does not sit near
A. P faces B and P 1s not an immediate neighbor of Q. There are two persons sitting
between B and D. T sits second to the right of U. E does not sit at any of the extreme
ends. S and T 1s not an immediate neighbor of each other. A sits at one of the extreme
ends.

3] HHHMWﬁFﬁﬁ@n{s =itk sI$ €| B8 34Mh A, B, C, D, E 3 F ST i I 3@ & AN
FABTP, Q,R, S, T AR U afeqor sh 311 3@ 2| Th qlrhohucqoboqlrhobw{gaﬂﬁqﬁﬁ
% 3Tk Ueh i<k fohT TTa9Ieh Tl o6t 3hH ﬁS\IIAliﬁTRkOhdH{OhId{@]%NﬁH
a%%lRe’ﬁ'{Qghdldd\loqr 33 8l Q o Freda eIt 4t C hl AR IHE R, ST A
% fiohe 721 93dT 21 P HT 9@ B 1 3R 2 3K P, Q T Fehedy veidl 721 21 B 3K D & o=

AR IS 2l T, U h SR & <8 € T 43T 2 E%ﬁ%ﬁaﬁmﬁtwqﬁéﬁ% S T
Ueh oY o fereay ueidt 72 ?. A fordt wer sifam s @ Sar R

i)
E2
mnp
21y
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There are twelve persons sitting in two parallel rows. Six persons A, B, C, D, E
and F are facing north and other six P, Q, R, S, T, and U are facing south. Each
person from one row faces exactly one person from the other row but not
necessarily in the same order. A and R sits diagonally opposite to each other.
There are two persons sitting between R and Q. One of the immediate
neighbors of Q faces C, who does not sit near A. P faces B and P is not an
immediate neighbor of Q. There are two persons sitting between B and D. T
‘sits second to the right of U. E does not sit at any of the extreme ends. S and T
1s not an immediate neighbor of each other. A sits at one of the extreme ends.

> R P TAQU S
\}:CiQ"UT}R PO RS TU \ \t A

ﬁQCDEF’- | | |
S B S




In a Certain code GATHER is written as 16r,thanﬁnd_thﬁj
code for DESIGN ? NSl Sir

U ARTd I3 A GATHER FT I3 16 Q@I I ATE
DESIGN Y T SIS T gI91T ?

(2)e8_ 20 § L o 9
N N

(4)80 10 \ &
f th 1
(5) None of these @
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A certain number of persons are sitting in the row. All of them are facing towards
north. I sits seventh from the left of V. C sits to the left of A. Only three persons
sit between G and A. L sits fourth to the right of K. I sits one of the place between
E and K. A sits fourth to the left of 1. K is seventh from the right end of the row.

Nine persons sit between G and K. There are nine places between C and E. A is

eight from the left end. G and I is not neighbor. s M)

e
w fAfara dear 4 safw Ui § 98§ a et st s g R gu @I L Ve amd &

TS AT W FST §l C,A 3 T3 AR 2| halel A1 A1 G AR AR AT T A8 51 L, K
o aTS TR TAT S3aT 2l I, E 31 K o <l § gl Ueh TATH TR Ueh 93T 3l A,I & 18
TR = T UTRF & M0 BR T K ATqaT 21 71 ik G AR K & S § 93 3| J1 A<k
CINEF A AT A3 E | Ufth & I BRA A 31131 2l GIIR 1 U=t T2 2
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A certain number of persons are sitting in the row. All of them are facing towards
north. I sits seventh from the left of V. C sits to the left of A. Only three persons sit
between G and A. L sits fourth to the right of K. I sits one of the place between E
and K. A sits fourth to the left of I. K is seventh from the right end of the row. Nine
persons sit between G and K. There are nine places between C and E. A is eight

from the left end. G and I is not neighbor.
ch '—Uuﬁﬁ\e D

=

BANK —— G .oV M

Ss¢ > < .20 PM

("’\T S) 1\
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